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3 - Write one use for each : 1o UST ko | 9 Lot kvl oGS -
First: Titanium dioxide 30U s 5 ¥
: : NEYPEX [P S ]
Second: Zinc sulphide e el

4 - Explain : -
Nitro compounds are used in the @ Lgdaall 9 udd! wie OLS pe pisiud
manufacture of explosives. Oyl el
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Write all the chemical equations | a_ &L Y alaed! amte ciSI
balanced. including the conditions of Sl do g ph 4S5 g b ke
the reaction:

Answer the following questions: FAGY) A po ol
1 - Choose to answer (a) or (b) : () 91 (1) (e Al 4T - )
Write the scientific expression 13kt (Ao JId elal! mllawadd | oSt

. 7. . ne (o Ao ygST HBUAT) etud deladi (f
indicated by the following sentence: sas o Sl 0
2 J135 19301 OMelad Gilus Y o sl

(a) Systems in which the electric energy aitas
from external source is used through a | ysis w68 280 Leie g aetsi ()
non-spontaneous oxidation-reduction - lSiadl 3LALS 15 lg BoaST Jelis
reaction.

(b) Systems produce electric energy
through reversible spontaneous
oxidation - reduction reaction.

2 - How to differentiate practically between | a-aat assgs (o Lile jsad S - Y
silver iodide and silver phosphate. $4.Ldl Olawshy
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5 - Ammonia solution its concentration 0.1 |« 0.1 M o385 jal &3 Jgtone -0

M and Kp =4 x 10° The pH value is; | #9343 (Kp) aedciLs ‘3!_4;
A o g yugh) @, oLa  4x10
159 buny

@ 9 9 O
® 11.3 113 ©
© s 5 &
@ 27 27 (O

6 - Explain : s i =
Iron (IIT) oxide could be obtained when | oz e 1 ~‘='-‘I-°I-“ ST O3 -
iron (II) oxalate is heated. () wastr oY lus ol

4] YoM YoAV Jo¥1 5ol - A | rall Aol Wie
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7 - Choose to answer (a) or (b)
Explain a practical experiment to
show: (Write the chemical equation).
(a) The effect of temperature on the rate
of equilibrium reactions.
(b) The effect of concentration on the rate
of reactions.

() 91 (1) (e Dl W1 5o -V
To sl e doles A pnd 7y
xQYALﬁ-ﬂ“—)
O e Byl ot A s 1 (1)
Jelaid! Juae le 58,500 550 ()

YA/ YAV J oW1 59t - das i polt Adialt Al
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8 - A sample of soda ash crystals, Na,CO3.X |duaedd! 1390 Slas—bey s Aines -A
H,0, its mass is 1.43 g, heated until #loz 143 WNaZ?Q3;XH?O
.9‘30.53.\.@@5&&&‘,@&“
constant mass of 0.53 g. Calculate the L £ le OV 30 3140 s
number of moles of water of crystallization. | [C=12,0=16,H=1, Na=23]
[C=12,0=16,H=1,Na=23]

9 - Show by chemical equations : 1A LeaSH O s laetly g -4
How to obtain cyclohexane from normal | okssl! o Gl Olusgll e Juass s
hexane. fgalll

6] YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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{(2) 51 (1) (0 Agla 31 53 1
ele JIad) elall mllaagl! S|

10 - Choose to answer (a) or (b) :

Write the scientific expression

indicated by the following sentence: ‘ ) ! Skl
Th f increasing the 02 PRI o sl B Bala) Budec (1)

(a) The process 0. . g e gl L o
percentage of iron in the ore by o AL Sl e cbec (o)

separation the impurities from it. L5 Y 11Ok (83 pubial!

(b) The process of collecting fine particles
of iron ores to obtain large particles
suitable for reduction process.

11 - Choose to answer (a) or (b) : () 91 (1) (e Al 4 -1 )
+ usd

Explain: :

(a) Markowinkoff’s rule is not applied for | < d’s‘“ 35bs Bueld Goads ¥ (1)
all alkenes when hydrogen bromide is Bkt uufjf:“
added to them. ki 9 S 033 J3e ¥ ()

(b) The colour of acidified potassium UL [} BVL E IS I P I |
permanganate does not disappear b2 duina-2
when it is added to 2-methyl-2-

propanol.

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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12 - Choose to answer (a) or (b) : () 91 (1) o Al ¥y -\ Y
Explain by chemical equation: PO kel Aslastly gy
(a) The reaction happened when charging | =5~ & bt detat (1)
the lead accumulator. apa o s "w“’;ﬁ‘(u)
(b) The total equation of the cell of iron o

rust.

13 - Find the salt name: el | ot it -\ ¥
Salt solution forming white precipitate | =231 Jstns 2oLl uie ple Jolos
with the addition of barium chloride |¢ =92 o2’ sl 055 4l psald

luti hich di ved i dilut o g addmat L ) glS g jugd | oo
solution, W ic : 1ssolve m' ' ilute sl 113535031l 1S sl B2

hydrochloric acid. And addition of Lt sl sl €955 el s

ammonium carbonate solution to the

original salt solution forming also white

precipitate.

8] YoM YoAV Jo¥1 5ol - A | rall Aol Wie
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14 - In the balanced chemical reaction:
PCls(g) = PClyg) + Clyg) s AH = (+)
The dissociation of phosphorus
pentachloride can increase by:

@ Decreasing temperature.

(b Decreasing pressure.

@ Increase the addition of chlorine.

(@ Addition of a catalyst.

15 - What happen and explain:

sl Jelait o8 - ¢

A)9LS (uals IO Sy (Sa
1 IS (pe ygaw el

Byl podl Ay (yalsd @

s Q)
3l e salt sl (D)
las Jale dalos) @

zﬁmﬂ!@&.\ae‘bh-\o

If replaced the sodium sulphate solution | ¢® ps2salt SlayS dgloe Judiul 13

in the salt bridge by barium chlorid

solution in Daniel cell?

o | P31 w2518 Jtoes Bumdadt 5,kaiatl

SOLSIs 2ls B

16 - Show by chemical equations :

How to obtain picric acid from chlorobenzene.

+ A0 LeeuSH O¥ slaelly zuudg -1 1
(30 Sl S e e Juami oS
RO OPIPy

YA/ YAV J oW1 59t - das i polt Adialt Al
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17 - Write the IUPAC nomenclature: 1T 98 A LR s (3 LiantSI @ | S -\ Y

CH3-CH-CH2-?H-CH3
® @ Br

® CH-C=C-CH-CH,

I
CHCH,

18 - You have apiece of tissue,how can you prove | ccis ca S (ilaat (e dalad ELyt -\ A
experimentally the carbon and hydrogen | o245 0925 (§maie o Lies
elements are existed in its structure, & Sodledl! cuS5 B WS
illustrate with chemical reactions. A0k OV s laelly s s

YA/ YAV J oW1 59ddl - das i polt dAdialt Al
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19 - Choose to answer (a) or (b) : (@) 91 (1) (e Al W1 o> -1 4
Show how to obtain industrially: role deliall 8 e &S sy
(without chemical equations) (Releass S¥alas BiliS )

Ogaleatt (1)

(a) Soap peliall At ()

(b) Industrial detergents.

20 - Write the structural formula and IUPAC | &Ls¥1 allain bt @ew cOS1 =Y

nomenclature of halothane oLt Aolied! Aaually
21 - In the opposite figure : 1 JalGalt JSAI 5B - Y
The (K¢) value is : (Ke) 2e

(@) Greater than One. : \\ Reactants gt e yst (1)
EE 55Me Ui

(® Equal one. £ - NRIPEPN (@
o t
] Products .

(© Less than one 5‘1 il gl e gst ()

@ Equal zero. o time Nydis (g gl @

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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22 - A galvanic cell, its potential is 0.34 volt, | aisSecds20.34 oags adlats ads -¥Y
is formed from copper electrode with |-l cdad ge (il clad (e
standard hydrogen electrode. If the cell | ¢~ e¥! 571 0 1318 - rulal

diagram is: e

Pt-H, / 2H™ // Cu®" / Cu° PtH,,2H"/,Cu”"/Cu’
Calculate the oxidation potential of el ST g Cow !
copper.

23 - A cation that gives a white green|oaei Lty olasy GaI Hg-GISH -YY
precipitate by the addition of sodium | “S24s Jsloe A8La1 e | s
hydroxide to its solution is: 198 Alslone 1 pgaagaall

@ Fo2* Fot @
@ Fo3* Fo3t @
@ Cu®* Cu* @
@ AP AP O

12 YoM YoAV Jo¥1 5ol - A | rall Aol Wie
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24 - Complete the table :

rJ 9t JaSi Y€

Type of alloy
Al £ 93

Its components
gt W35Sl juoliall

Aluminum-Nickel
ISy p gus 911

interstitial alloy

.

25 - Choose to answer (a) or (b)
Show by chemical equations:
How to obtain :
(a) Aspirine from ethanal
(b) Marookh oil from chloromethane

(@) 91 (1) (e Al WH o> - YO
oS AOleSI O¥aladly masy
s ole Juaxi
JBL (e (¥ (1)
RSN ST )

YA/ YAV J oW1 59t - das i polt Adialt Al
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26 - In the opposite figure, a process in | e 4GS ddee pidgs Jalaall JSadf - Y1
purifying copper metal : soulndt
First : what happens in the il i

) S(A) Cdazll Gy f3le
electrode (A). Write the i oot 501 S S S

chemical equation. Loty

Second: what happens to the Aal LA G ke
impure sliver at the A el pulill i

puer- iy W

impure copper electrode.Explain.

27 - What is meant by the solubility product? | a2 $a20¥1 Jole 39-adell Le-YV

Then, calculate (Ksp) for barium Cllusd Jotoa (Ksp) oot
phosphate solution, Ba,(PO,), , where its | ol ‘i 13_23(1)04)2 po—uLd!
degree of solubility is 1x10"3 M. - IX107 M g it dass

14 YoM YoAV Jo¥1 5ol - A | rall Aol Wie
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28 - Choose to answer (a) or (b) :
Write the scientific expression
indicated the following sentence:

(a) Apparently a stationary system but in

reality dynamic.
(b) At constant temperature, the
rate of a chemical reaction is

directly proportional to the result
of multiplication of the reactant

concentrations.

() 31 (1) 5 Al Y1 i ~YA

ele JIad) elall mllaagl! LS|

15 ylaat!

et S 9tiuat) e (pShoualtas (1)
Pl il S guad! Sle SSaliang

4o puu el By pomdl A 53 D98 e (@)
FER Qo Juol> pe Liayle Jelaid
OMelaial!

29 - Choose to answer (a) or (b) :
Show by chemical equation:
(a) Friedel Craft’s reaction

(@) 91 (1) (e Agla W1 i - Y4
1 A0l ST Waladtl mag
CA1S Jus b Jelas (1)

b Jelas (o
(b) Baeyr’s reaction R Jelas (o)
YoAM/ YAV 9% 59t - Al pald Adbald de s
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30 - Choose to answer (a) or (b) : () 91 (1) He Al ¥y -v
what is the effect of heat on: 1ole 351t 3 Le
a- Methane. :’S"“:'((';
b- Octane. R
31 - Choose to answer (a) or (b) : s dovoual! Aala W1yl -
All the following compounds are Dlay ag-be Adlidl SluS et g
coloured and paramagnetic except: Hlele drblise
@ FeCl, FeCl, (D)
® cucy, CuCl, @
©  Secl, SeCl; @
@ CoCl, coCl, O

32 - Write the name of the electrolyte in the | ;2 pisiuat) Cod g SSIW @) CS1 Y'Y
fuel cell, Write the chemical reaction | Jel&d! dalas 3—.“-«“5.&“4333!'.““\:-” 5
at the cathode. -2931ST e Sia Lot

H

YA/ YAV J oW1 59ddl - das i polt dAdialt Al
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33 - Explain: s - YV
Hydrochloric acid is used to detect the | --ae1! HlausSoyuel! pies pusiug

sulphite ion and is not used to detect the | ¢ ¥ “““f‘i‘:;'u“ st b
sulphate 1on. Ol 83 (gl (e CaasU

34 - The product of the reaction of ethyl | Léa¥iJsost Jelalmziliadyiy -vt
alcohol with concentrated sulphuric acid | 3+ ele St S oS paes g

JemSH Silia
depends on the number of the alcohol . _desdi ot
cAO LS O alaall S g
molecules.

Explain with chemical reactions.

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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35 - A current of 15 amperes passed el 15 A3 (s 1S 5L 1 pot s -YO
for 50 minutes in a solution of @r“-‘-’r‘ﬁd&"“?-ﬁ 7“-’:‘3-’ 50 3-‘-—*‘
divalent metal cation. The mass Huday aglsh aLs "’"" ‘,_;s;g
of the cathode increased by 9.35 g. 34 20 3:,;7 ' N
Calculate the atomic mass of the
metal.

36 - A compound (A) has molecular formula + Al o) Ao (A) S yo - ¥

©_ COOCH, @_ COOCH,

Show with chemical equations:
First : The effect of addition NaOH to + A0 LeadSI S s laet by g
the compound (A). (A) c8,e01 1 NaOH zaLi) 30 -3
Second: The effect of the ammonolysis | skl s ¥ gislaih Jladti 31 :L50
of an ester considered an isomer (A) oS5
to compound (A).

YA/ YAV J oW1 59ddl - das i polt dAdialt Al
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39 - In the following reaction: 1T L el B -Y4
Nag) #2059 = 2NOy) Nag) 202 = 2NOyq)
Calculate (K;,) value using the following | awssiaes deotazns (Kp) dass covis
partial pressure: S s o | Lo giial
[N, =0.4 atm, O,=2 atm , NO, =4 atm] | [N, =0.4 atm < O,=2 atm ¢
NO, =4 atm]
40 - Show by chemical equations : +AOLea ST O s laetl g - £ ¢
How to obtain iron (III) oxide from | (D) st weusi Glo fuams s
siderite. P asd]

20 YOAA/ YAV J g% 50l - Amn | palt Aulbalt A
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37 - Choose to answer (a) or (b) () 91 (1) (e Al W1 4T -1V
Write the scientific expression indicated | e J'4! gelal! mllaaalt s
15 ylatt

by the following sentence: " - )
. o g5 e il Y g T iles
(a) The process aims to 1identify the U ey Lo Bolad AigSalt puobiall

constituent elements of a substance and Led o
the percentage of each element in it. Teoglacy phaes 8,5 ,uuds ddee (©)
(b) The process to determine the |2+l go Jaladl die a5 @aantl
concentration of an acid solution by HEA el Geglas
knowing its volume which is required
to neutralize the base solution of
known volume and concentration.

38 - Explain : s i =¥ A
The lithium battery is more preferable to | -&H! &t 0o pall 2uds pladiul Juady

the mercury cell.

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead
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41 - Explain : sy - €
Manganese compounds are used as a 98 jax JalgeS Sriaiel| GLS po poidind
strong catalyst.

42 - Explain : s pud £ Y
Not possible to distinguish between |#sse¥! Sbeul dsine i 5l oSa ¥
ammonium acetate and sodium chloride | %'k psisall oS doioes

. . . . . Jadleasd
solutions using the chemical indicators.

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead 21



YoVA/Y 2NV (il 301 pladt - J 91 5 9uh - (Fop 3-elod ¥ ASUILY) ¢ LeauSH - Aaladt Ay 9300 sl 500 ALEH B3lgets G lonciel

43 - Choose to answer (a) or (b) : () 91 (1) pe Ayl ¥ i -£Y
Show by chemical equations, how to | == 4=fkesi S¥aladly 7y
obtain: Srs e Bt sea u_":"fm
(a) 1,2-Dibromoethane from ethyl o m Jﬁ);%" J—:—“«:}"

hydrogen sulphate. 2 (p (323 9550 93918 -Los ()
(b) meta-Chloro nitrobenzene from
benzene.

22 YA YoAV Jo¥1 5guldf - A pold Zclball Adead
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44 - A mixture of calcium carbonate and sodium | pg—eest LS SLig oS Gadact 5 - £ £
sulphate, its mass is 1.5 g, neutralized with | #>* L5 ‘i-"“s‘-"‘s Hi:'-’{“’ | Sba-Ss
15 ml of 0.8 M hydrochloric acid. Calculate | == &= 12 T 4ssmbasd 53
. 0.8 M by 918 gyt
the carbonate percentage in the sample. Al B Ol pSI Ak
[Ca=40,C=12,0=16] [Ca=40,C=12,0=16]

45 - Show by chemical equations 1 AO LeaSH O slael Ly g - £0
How to obtain iron (III) chloride from | (D) ssasttsysis e duass cas
iron (1) sulphate. D sttty

YoM/ Yo AV Jo¥1 5 gultf - Aase | rall Aol Aiead 23





